Mathematics 9
Determining Equations of Lines Algebraically
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1. Graph the following lines on the same set of axes. Then state
the equation of each line.

a) through the point A(-6,1) with a slope of l
|
Answer: ‘1 2 X "‘"

b) through the point B(3,1) with a slope of 3 —» Spt = 3

Answer'_j: Ix- '8

) through the point C(-8,8) and parallel to the-—oslore=-“3 -
-9 K+2 Y

line y=-2x+20 Answer: Y=

d) through the point D(6,2) and perpendicular to trf,,siopc: 3

line y=—2x-91  Answer: J= =x=17

2. Graph the following lines on the same set of axes. Then state
the equation of each line.

a) through the points A(5,2) and B(1,-2)
4 -
Answer: 9= §%-3 = )= X-3

b) through the points C(—4,-3) and D(2,-6)

Answer: J=

c) with a y-intercept of 2 and passing _Ehrough the
point E(-1-1) Answer: Y= 1% *%2 = 9=3x+2

d) with an x-intercept of —6 and passi?g through the

3’< S-Pj"'x S
i

-2 - -
point F(3,-3) Answer: J= 3 * Y= 3"-2

3. Graph the following lines on the same set of axes. Then state
the equation of each line.

a) a vertical line through the point A(2,3)
Answer:_ k=2

b) a line through the points B(-4,-1) ; C(6,-1)
Answer:__ 9= -

¢) through the point C(-3,8) and parallel

to the line y=5 Answer: "12 3
d) through the point D(6,2) and perpendicular
totheline x=0  Answer: Yy=2
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